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Seclion A (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is
the comect answer. Make your choice (1. 2, 3 or 4). Shade the comect
oval {1, 2, 3 or 4) on the Optical Answer Sheet.

1. Which of the following shows the characteristics of an orchid plant?

Need water and

oir? Can reproduce? ng;g:zz:g fo
1} Yes Yes No
2} , Yes No Yes
3} Yes Yes Yes
4} No Yes Yes

2. The following living things are classified by what they eat.

Living things
I I
Chicken Lion
Chimpanzee Shark
Animal-X Hyena

Cow
Giraffe
Caterpiliar

Which of the following animals could Animal X be?

1} Tiger
2} Duck
3} Eagle
4) Sheep



3_. The following picture shows a frying pan.

Part A

Which materials are suitable for making Part A and Part 87

Part A Part B
1) : Steel Wood
2) - Copper Glass
3) Rubber Iron
4} Plastic Ceramics

4. Which of the following maiches the life cycles shown below?

T
N

|

TN

Adult Larva
Adult <+——— Nymph \ /
Pupa

iife Cycle A life Cycle 8

Life Cycle A Life Cycle B
1} Housefly Dragontly
2} : Beetle Mosquito -
3) Grasshopper Damselfly
4} Cockroach BuHerfly

air best explains what happened?

1} Air has mass.

2) Air occupies space.

3} Air has no fixed shape.
4} Air can be compressed.

Tom pumped air into a balloon until it burst. Which characteristic of




6. The containers below each contain 1 lifre of water. In which of the
following containers would the water evaporate the fastest?

1) 2)

3 4)

7. Look at the picture of a flower below. Which f:)cm of the flower
would pollen grains be found?




8. The diagram below shows the location of Plant A, Plant B and
Plant C near ariver mouth.

0

0 O Land

d Plant A
A Plant B
% Plant C

Which of the following matches the plants and their seeds
comrectly?

Plant C

Plant A

W,




9. Which of the following shows the characteristics of a flower fhat is

polinated by an insect?

Smell of flower Colour of petals Size of petals
1} Scented Brighily coloured Big
2} Scented Dull Smatll
3} Unscented Brighily coloured Small
4} Unscented Duli Big

10. A cup which contained very hot water was covered with a plastic

cover as shown below.

Very hot water —_|

[

+——-mPlastic cover

Glass cup (Handle)

After half an hour, Daren observed some changes. Which of the
following shows what Daren observed?

1)

3}

2}‘

e NS

4}

PO W . W o Y

1
LA




11. Which of the following maiches the reproductive organ o ifs
reproductive cell?

Male Female
Reproductive | Reproductive Reproductive | Reproductive
Organ Cell Organ Celi
~H Penis Sperm __Uterus Ovum
—2 Teslis Sperm Ovary ' Uterus
3 Anther Pollen Grains Ovary Ovule
-4 Filament Pollen Grains Stigma Ovary

12. Which of the following shows the comect sequence of how d baby
develops?

1)

2}

3}

4)




13. Which of the following about sexual reproduction in humans is
talse?

1]
2}
3)
4)

A fertilised egg develops in the uterus.

Many sperms are needed to ferilise an egg..
Sexual reproduction requires a male and a female.

Traits of parents are passed to their offspring through sexual
reproduction.

14. Study the flowchart below.

- Parts of a
Plant

h

Does it help the
plant to take in
wat_el’?

Yes

No

Does it help 'the -

plant to
fransport food?

Yes

b 4

No

r

Does it help the
plant to make
food?

Yes

No

Which of the following identifies W, X, ¥ and Z?

1)
2)
3)
4)

w X Y /4
Roots Phioem Tubes Leaves Xylem Tubes
Xylem Tubes | PhloemTubes |  Leaves Roots
Roots Leaves Phloem Tubes | Xylem Tubes
Phloem Tubes | Xylem Tubes Leaves: Roots




15, Study the picture of the skeleton below.

What is the function of Part A?

1} It supports the head.

2} It holds the body upright.

3} it protects important organs.

4} it-aliows the arms to move freely.

16. Study the graph below.

Amount of 4
undigested food X
) R ~{
\\ - --no.n.. .’..
* N = - b ..‘0000
\-, R o 120
—  — \. et \;ltt-n---n-"g. "“‘".‘. .
L "-0...‘
\.\ ~ @
~
@4 i
mouth gulel  stomach Sma Large "
intestine intestine

Which line correcﬂy shows the relative amount of undigested food
in the human digestive system? :



7.

1)
2)
3]

18.

19.

When we breathe, air is inhaled {taken in} and exhaled {given
out}. Which of the following shows the difference between inhaled

air and exhaled qir?

Difference between

Inhaled Alr Exhaled Air

Is warmer : | Is cooler

Has more water vapour _Has less water vapour
Contains more oxygen Contains less oxygen
Contains more carbon dioxide Contains less carbon dioxide

What is the function of red blood celis?

1} Fight foreign bodies that enter the body.

2) Transport oxygen from the lungs to alf parts of the body.

3} Transport digested food from the small intestine to all parts of
the body. '

4) Transport unwanted materials to special organs for removai
from the body. '

Study the diagram below.

Luhgs

A B
Heaﬂ

C _ D
Parts ¢
of the
Body

Which statemeni#g about the circulatory system isfare true?

e
1} Vessel Ais an ertery.
2} VesselBis a vein.
3} Vessel C contains blood rich in oxygen.
4} Vessel D contains blood rich in carbon dioxide.



20. Which of the following is/are {an} unicellulqr organism(s}?

Al Yeqst
B) Zygote
Nerve Celj

D} Bacterium
~H Aands only
~2~AandD only

=8 Band C only
~4—Candp only

2]. Study the flowchart bejow

! Cells ’

Does it have g fixed shopé?

Yes _
Does it hgve chloroplasts? Does it have g nucleus? |
Yes

Onron Skin Red Blood
m
‘29. ___Root Cell |
‘3{ Onion Skin Red Blood

Cell CeH
)




22. Which of the following is frue about the parts of a cell?

1)
2)
3)

4)

The cell wall covers and protects only the nucleus.
The cytoplasm controls when the celf performs photosynthesis.
The chioroplast is a jelly-ike fluid which coniains other cell

parts.

The cell membrane acts as a filter only allowing certain
substances to pass through.

23. Study the circuit diagram below.

-
"

Bulb A

Switch 2

Bulb 8

'

g Qwﬂch 3
Bulb C ]

Identify the correct operation of the switches and light buibs.

1)
2)
3}

4

Switch 1 | Switch2 | Switch 3| BulbA Bulb B Bulb C
Open Closed Closeq %‘g’:’;? Sgt Lights up | Lights up 7

Closed Open Closed [l)igﬁ Sgt tights up | Lights up

Closed | Closed Open | Lights up | tights up 2;2? ng
Open Open Open__| Lights up | Lights up | Lights up

11




24. A circuit diagram with 2 identical bulbs, 2 batteries and g switch is
shown below. Buib A and Bulb B light up when the swiich is closed,
Both bulbs light up with equal brightness,

f—
k Bulb A Bulb B

X Y

Bulb C is then connected fo the circuit at X and Y.

Bulb C

What will happen to Bulb A?

1} Hwill not light up. _

2) itwill become brighter than before.

3} Htwill become dimmer than before.

4) Hwill light up with the same brightness.

12



25. Study the circuit below.

—| ]

O
{ ]

Bulb B lights up when the swilch is closed. What will happen fo the
brightness of Bulb B when the switch is replaced with a bulb, then
a battery and finally a coin? Assume that all conneclions are

correctly in place.

Bulb s Battery Coin

remains the same | remains the same remains the same

~N

\29. dimmer brighter remains the same
3§ dimmer brighter does not light up
~4} | remains the same | remains the same dimmer

13



26. Adam made q <circuit card

copper wire. He connected
- bulb as shown below.

with 6 paper clips and g length of
the circuit card to a battery and o

e

T
-

Circuit Card

if the buib lights up, which

of the following cards shows the
connection of the paper clips? -

1) : 2)

4)

14



27. 5 bar magnets are aranged as shown below. The ends of the
magnets have been labelled A to J.

AlC D1 E

B F]G H

J

Which of the following shows another possible arangement of the

magnets?
" F I D G|Jla 8
[ T A
C Hi{1C D¢
il AT
e ﬂ el
D
J
[ 6 . HIE F
H G
J !
G A wB |

15



28. A thermometer was left in a beaker of ice as shown below. The
beaker of ice was left on a tabje atl room temperature for
. 10 hours. _

Therfnomel‘er

ice | f .. /////////f

Which graph shows the change in temperature of the ice over
time?
U 4 . - 2] &
Temperature i Temperature
{°C} ' _ {°C}
0 Time 0 Time
{min} {nin)
3’ A 4) JP
Temperature Temperature
(°C) | | °C)
0 Time 0 Time
{min) {min}

16



29. look at the diagram below.

30.

Why is Jack able to see the ball?

¥
2)

3]

4)

The ball gives off light which is refiected into Jack's eyes.
Jack's eyes give off light which teflects off the ball and into
Jack’s eyes.

Light from the sumroundings is reflecied off the ball and into
Jack’s eyes.

Light from the surroundings is reflected off Jack's eyes and
onto the ball.

Which of the following actions requires energy?

A)
B)
C)
D}

1)
2)
3}
4)

Sleeping

Standing sfill

Running on a track

Watching a television programme

C only
C and D only

B. C and D only
A B, CandD

--- End of Booldef A ---
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Section B (40 marks) :
For the questions, 31 to 44, write your answers in the spaces provided,

31. Classify the foiloWing actions according to how they help to
conserve water, by writing the letters, A, B, C, D, E and F. which
represent them in the table below. (3 marks)

Lefler | Action

A | Taking a shorer shower.

B Collecting rainwater to water plants. |

C .. | Washing clothes only when there is a full load.

D 1 Using waste water from the washing machine to mop
the floor.

E Using a pail to wash the car instead of using a running
hose, - -

F Tuming waste water info clean water for human
consumption. '

Water Conservation

— ]

Reduce Reuse Recycle




’ Number of seeds planfed

Average height of
seedlings after 1 week

N {cm) .
PotA | 2 2 '
PotB 8 3
Pot C 14 5
Pot D 20 8

a. How does the number of seeds planted affect the average height

of the seedlings? {1 mark)

b.  Explain your answer in {a}. {1 mark)

. What factors must be present for a seed to germinate? {1 mdrk}

——




33. The picture below shows a developing human baby.

Shucture A

a. Identify Structure A. {1 mark}

b. What is the function of Structure A? {1 mark]

c. The fime taken for a htjmon baby to develop fully uniil it is ready
to be bom is called the gestation period. How long is the gestation
period of the human baby? (1 mark)




34. A white rose is placed in a bottie of blue dye as shown below.

Q. After 24 hours, what can be observed about the colour of the
rose? {1 mark)

b. Explain your answer in {a}. { 1 mark}

35. The diagram below shows a plant cell.

a. Label the following parts on the diagram. {2 marks)
Cytoplasm

Cell membrane

* Nucleus

¢ Chloroplast

b. Label the part that helps the cell to mointdin its regular shape.
{t mark)



36. The picture below shows 1

surface of a leaf.

3 2
> 1L
AN 4 ‘i'.i o

N -

o
.oy

iy

ik

Leaf

a. Identify Structure X? {1 mark)

he magnified cross-section of the

Structure X

b. What is the function of Structure X? {1 mark)




37. Dennis connected a circuit as shown below.

Datalogger

_E .-

Light Sensor _

When the swilch is closed, Dennis measured the brightness of the
bulb with the light sensor and datfalogger. Then he added
batteries 1o the circuit one at a fime and measured the brightness
of the bulb. His measurements are recorded in the table below.

Number of Brightness of
batteries the bulb {lux}
70

125

160

230
0

i W IN |~

a. What is the brightness of the bulb when 5 batteries were used?
{1 mark}

b. Explain your answerin {a}. {1 mark]




38. Draw a circuit diagram that include:
» 2 batteries
s 1 swilch
* 2 bulbs, iabelled Aand B

The circuit diagram must show the following:
» Bulb Aislit all the time-
« Bulb B is lit when the switch is closed
 Bulb B is not lit when the switch is open

{2 marks)




39. The picture below shows an electrical fransmission tower.

R rieciusd
_‘?’J L5 i I,,

Vs

RI22

An electrical fransmission fower is used to support electical
cables. Whenever the tower needs to be repaired, the repaiman
has to wear special gloves and boots before doing any repairs.

a. Why does the- repairman have 'to wear the special gloves and
“boots? {1 mark)

- b. What property must the material for making fhé-gfovq_s and boofs
have? {1 mark]

C. Give an example of q suitable material to make the gloves and
boots? (1 mark] -




40.

41.

Currently, power stations in Singapore burn fossil fuels to produce
electricity. To minimise usage of fossil fuels in producing electricity,
the power stations also burn garbage.

What is an advantage of burning garbage to produce electricity?
{1 mark}

Instead of buming fossil fuels or garbage io produce electricity,
suggest 1 alternatfive renewable source of energy to produce
electricity. {1 mark) '

Information about 4 organisms are given below.

Ais the prey of D.
Aeals C,

- Bis the predator of D.

Cis a food producer.

Using the information given, consiruct a food chain showing the
food relationship between the 4 organisms. {1 mark]}

Which organism, A, B, C or D, is both prey and predator? {1 mark}




10



Hse the. following Helping Words to

| complete the concept map
- ‘below. (2marks) o

Helping Words
Carbon dioxide | Oxygen_ [

Clucose |  water |

— Process A I.*
taken in for produces
RN ai r‘" o
T M L}

produces fdken fn for

Respiration

b. Whatis Process A? {1 maork]

C. Whyis Process A important to plants? {1 mark]}

il



44. Edison shone g fixed amount of light on a plant for an hour and
Mmeasured the amount of OXygen produced. He repeated the
experiment using different amounts of light and recorded his
results in the table below,

- Amount of light (iux) Amount of c;’éynﬁ’g” produced. |-
| 500 ] ]
1000 4
B 2000 5

3000 . 6
4000 — 7
5000 8
L 6000 8
7000 8

b. What is the least amount of light that will produce the most
amount of oxygen? {1 mark) '

C. What should Edison do to ensure the reliability of the resuits of his
experment? (i mark)

12



45. A solar heater water tank is placed on top of a house as shown

below.
N ! /s
e ~\

Solar Heater
Water Tank

a. Why is the solar heater water tank piaced on top of the house?
{1 mark)

b. What is an advantage of using the solar heater water tank?
{1 mark)

13



46. Tom provided 3 types of food for Anim

al X and recorded Animaj
X's reaction o the 3 types of food over

a period of 7 days.
Type of Food Animal X’s reaction
Ty
Food A Did not eat the food at all
Food B : Ate the food
Food C Did not eat the food af all |

a. What food test'can Tom perform on the 3
if they &re &

types of food to find out
om plants or animais? {1 mark)

b. If Animai X is a plant eater, what would be the results of the food
test on Food B? {1 mark} - .

--- End of Booklet B ---
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31)Reduce: A, C, E Reuse: D, B Recycle: F

32)a)As the number of seeds planted increases, the average height of the
seedling also increases.
b)If the plants are overcrowded, they will grow taller to fight for sunlight.
c)Warmth, moist and oxygen.

33)a)Umbilical cord. .
b)It transport the nutrients from the digested food and water the mother

eats and oxygen into the baby through the umbilical card.
c)Nine months.

34)a)The white rose turns blue.
b)The blue dye is transported to the white rose through the xylem tube.

35)

Pageltec 3 page 1



Answer Key


36)a)Stomata.
b)It allows the exchange of gases to take place.

37)a)0 jux.
b)The voltage of 5 batteries was too high so the bulb fused.
d {_ .
38) ’,ll @ﬂ
/7

@

39)a)lt is to prevent the repairm;in from being electrocuted.
b)It must be an insulator of electricity.
c)Rubber.

40)a)It reduces the amount of garbage to be disposed.
b)Solar energy.

41)a)C>A>DOB
b)D.

LN

b)Light can be reflected.
43)a)water Oxygen
Carbon dioxide ~ Glucose

b)Photosynthesis. '
c)It enables the plant to make food and survive.

44)a)The more the amount of light, the more oxygen is produced until it
reaches a maximum of 8cms for any amount of light greater than 5000 lux.
b)5000 lux. , :
c)He should repeat the experiment using another plant of the same type.

45)a)lt is easier for the solar panel to absorb heat from the sun.
b)It saves electricity.
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46)a)Add iodine to the food. If it turns dark blue, it means starch is present
and the food is from plants. If the food is from animals, the iodine remain
unchanged.

b)The iodine will turn dark blue.
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